
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 125 120 105 100 90 85Différence commune:2. 865 715 640 565 415 340Différence commune:3. 451 426 351 326 276Différence commune:4. 564 539 514 489 439 389 364Différence commune:5. 305 255 230 205 155 130Différence commune:6. 632 582 532 482 432 282 232Différence commune:7. 843 743 543 443 343 243 143 43Différence commune:8. 902 802 702 602 502 202 102 2Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 130 125 120 115 110 105 100 95 90 85Différence commune: -52. 865 790 715 640 565 490 415 340 265 190Différence commune: -753. 476 451 426 401 376 351 326 301 276 251Différence commune: -254. 564 539 514 489 464 439 414 389 364 339Différence commune: -255. 330 305 280 255 230 205 180 155 130 105Différence commune: -256. 682 632 582 532 482 432 382 332 282 232Différence commune: -507. 943 843 743 643 543 443 343 243 143 43Différence commune: -1008. 902 802 702 602 502 402 302 202 102 2Différence commune: -100Mathslibres.com


